——
N = 0] &F AF S & AN A
M Lol &0H el It
HY: Lo=NEA
S9l: COI=X| JBtEY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
L Ol &HOH o1 1} 230,056,417 197,854,144 32,202,273
= 136,403,325
&< 19,444 874
Al 74,208,218
Lo=Exsd 174,062,942 135,137,795 38,925, 147
= 103,937,465
= 14,365,162
Al 55,760,315
LOoIEX Jletxd 170,950,483 134,447,755 36,502,728
= 103,651,965
== 14,355,102
Al 52,943,416
Lol=Ex X (LXelEE) 970,000 1,282,000 A 312,000
307 212t0| & 970,000 1,282,000 A 312,000
10 M SXANEEHESIHEX 970,000 1,282,000 A 312,000
OXE-oldXe Al 1,940,000& * 500 970,000
LOQAALE 2H A& 10, 124,400 9,990,446 133,954
& 5,386,886
Al 4,737,514
301 et A= 10, 124,400 9,990,446 133,954
= 5,386,886
Al 4,737,514
01 Al E & A 462 10, 124,400 9,990,446 133,954
OEQQAAAL X 10, 124,400,000& 10, 124,400
o 5,386,886
Al 4,737,514
Lol X Lot ALS 931,650 880, 118 51,532
201 et 10,850 4,648 6,202
01 AP 2t 2] H| 10,850 4,648 6,202
OxoY MAALY S H422
200,0008 = 51 1,000
OLQIsHAF E=1IH X & 100,000& = 30 3,000
oOLoloyd HAIXE Sl
7,0008 * 5 * 10« 350
OLClNENY OFZXTOI(EEN §H)
10,000& * 500 5,000
OLQ=2XAILE 2L20= WM E
1,500,000& 1,500
202 o4 H] 1,600 1,280 320
01 2L I 1,600 1,280 320
OLQ=2XAIAE XNE=HE O]
20,0003 = 2™ = 20¥ x 23] 1,600
203 & R =&H| 3,000 0 3,000
03 Al 2 =& 2 = X H| 3,000 0 3,000




M Lol &0H el It
HY: Lo=NEA
Col: Lol= X JIBEN (St &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OLQl B AR =X 3,000,000 3,000
307 QI2t0| & 916,200 874,190 42,010
10 Al EXANEEHESIGH EX 916,200 874,190 42,010
oo/ 10,000& = 90,000 900,000
oxoo & 249 1,800
[@F=2=3:]! 700,000& = 2J0 A 1,400
OO0l =] 200,000& * 200 400
ORH=NIUHRA(HFALUASES=TH)
14,400,000& * 102 14,400
AILIHEE &9 1,320,000 1,320,000 0
307 giztol A 1,320,000 1,320,000 0
10 MM SAANEEHESIHEX 1,320,000 1,320,000 0
OALIZEE 29 220,000,000& = 61 A& 1,320,000
Lol XEesArzss I 20,160 25,200 A5,040
307 QI2t0| ™ 20,160 25,200 A5,040
11T A EXAIEEX 20,160 25,200 A5,040
Ok ESAESK S 20,160,000 20,160
EOIATIZIAIS (AlSI 28 H) 8,451,780 7,430,340 1,021,440
= 4,225,890
= 704,361
Al 3,521,529
101 Q121 H| 9,500 3,600 5,900
= 4,750
o=t 475
Al 4,275
04 JI2ZtHIZ22NEES 9,500 3,600 5,900
OLQoldXte Mo AESEE 9,500,000 9,500
= 4,750
&< 475
Al 4,275
201 et Y| 14,000 13,000 1,000
= 7,000
& 700
Al 6,300
01 AP 2t 2] H| 14,000 13,000 1,000
OLQIURel AFAZ=R(2AH])
14,000,000 14,000
= 7,000
= 700
Al 6,300
202 044 5,000 5,000 0
= 2,500
= 250
Al 2,250
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X

B E A (<!

2N
X ZH -
L= B

el

o
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b HH
e e re
J i o
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o e

A

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

01 =4
Ok

]l 5,000 5,000 0
e xtel =& 0l 5,000,000& 5,000
2,500

250
2,250

e

= N H

301 LEE N 1,707,200 1,530,400 176,800
853,600
85,360
768,240

= N H

0z
oy

, 707,200 1,530,400 176,800
1,707,200,000& 1,707,200

853,600
85,360
768,240

e

1o
pea}
o
1

N
>
1)
o

= H W

[m]

307 21201 & 6,716,080 5,878,340 837,740

3,358,040

617,576
2,740,464

F

= M W

>
ton
i
-
I
HL
P
D

,716,080 5,878,340 837,740

©)
H
e
ne
- >
Jul
Mo
02
>
or
o
o
oo

)
3,880,600, 000& 3,880,600
1,940,300

388,060
1,552,240

= W

fon

ocogxtel 2 (MaSEHE-HE)

1,297,920,000& 1,297,920
648,960
64,896
584,064

= MW

OLoldXtel 2E (MBS E-HE-9988 S X

Zol) 1,510,400,000& 1,510,400
755,200
151,040
604,160

Z N W

okolgRiel 2 (MISSHE-2LIHEY)

27,160,000 27,160
13,580
,580

A
>

CESSEEAMHI A 719,720 1,070,495 A 350,775
503,804
64,775
151,141

= M W

307 21201 A 719,720 1,070,495 A 350,775
503,804
64,775
151,141

= M W

(@)
()]
=]
S
40
Jm

719,720 1,070,495 A 350,775
719,720,000 719,720

©
H
re
]
or ol
OB
el
x
Lo
I>




M Lol &0H el It
Mo LoI=XEX
Sl wol=X JBEY EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 503,804
= 64,775
Al 151,141
Lol 249 2,140,000 2,060,000 80,000
307 2iz2to| & 2,140,000 2,060,000 80,000
05 QIZ2t E 2 2,140,000 2,060,000 80,000
oxe=EX&29| (40A) 2,140,000,000& 2,140,000
MNAS MO QIAAN BHE ALY 475,650 634,200 A 158,550
307 QI2t0| ™ 475,650 634,200 A\ 158,550
11T AISIEXAIEEX 475,650 634,200 A 158,550
OMASEMMIL =LA AIBHE AIY 475,650,000 475,650
AZ2AY 2234 ALY 1,017,394 1,566,510 A549,116
307 212t0| & 1,017,394 1,566,510 AB49,116
11 A EXAIEE X 1,017,394 1,566,510 AbB49,116
OIZ AR ZAAY 1,017,394 ,000& 1,017,394
LolsgllENd A 962,520 900, 130 62,390
= 659,803
= 90,816
Al 211,901
307 2Iz2t0| A 962,520 900, 130 62,390
= 659,803
== 90,816
Al 211,901
11T A EXAIE EX 962,520 900, 130 62,390
ox=EglI2ANdlA(ZH]) 19,944,000 19,944
o=} 5,984
Al 13,960
OLolsEJI2HHIA(=2H]) 942,576,000 942 576
= 659,803
& 84,832
Al 197,941
PIES G 131,495,794 86,715,144 44,780,650
= 95,798,941
== 7,139,370
Al 28,557,483
301 LBt A= 131,495,794 86,715,144 44,780,650
= 95,798,941
= 7,139,370
Al 28,557,483
01 Al E & A 462 131,495,794 86,715,144 44,780,650
OJIx=d2(s) 93,976,939,000& 93,976,939
= 65,783,857
=} 5,638,616
Al 22,554,466




A el Zoel
HY: Lo=NEA
Sl wol=X JBEY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIx=dZ3(8.¢) 37,518,855,000& 37,518,855
= 30,015,084
< 1,500,754
Al 6,003,017
COIHH 2 XA 1,325,350 47,420 1,277,930
307 21201 A 150,400 47,420 102,980
03 AHHEE2IHIES 150,400 47,420 102,980
OUs-ls =AMLY MARX S
79,700,000& * 10H A 79,700
Olfst-lsl BFAEEHALXE
70,700,000& * 10H A 70,700
401 AIEHI L 2 CHYI 70,000 0 70,000
01 A& HI 70,000 0 70,000
OUetcels FFAEHHHF X2 AIRA 2
g 70,000,000& * 1JH A 70,000
405 TtabF S| 4,950 0 4,950
01 AL ESFHSHI 4,950 0 4,950
Otetcols FFAEEHAZXZ 22AL4E
o Xt 33,000& = 1504 4,950
701 JIEtSI HETES 1,000,000 0 1,000,000
01 JIEtSI HE &S 1,000,000 0 1,000,000
Otstcls FFAEHHHRX 2 AR A 0
& 1,000,000, 000& 1,000,000
702 )ISHEES 100,000 0 100,000
(RWIE=RSE—t= 100,000 0 100,000
O =XJIzs HE 100,000, 000& 100,000
ColUTtel AL (A EE) 912,450 804,400 108,050
= 456,225
= 45,622
Al 410,603
307 21201 A 912,450 804,400 108,050
= 456,225
< 45,622
Al 410,603
11T AR SXAIEE =X 912,450 804,400 108,050
OLQdXe2G (ANEEH-sSHLEH)
300,600,000 300,600
= 150,300
< 15,030
Al 135,270
ool Rl (AESE-IHmAEY)
17,850,000 17,850
= 8,925
< 892
Al 8,033




A el Zoel
2 Lo=XEX
Sl ol=X JIBEY (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ool (AEE-MET0HE)
594,000, 000& 594,000
= 297,000
< 29,700
Al 267,300
Lot A (802 MEolad) 383,680 371,690 11,990
= 191,840
= 19,184
Al 172,656
101 @124 dl 59,950 35,970 23,980
= 29,975
= 2,997
Al 26,978
4 JI2ZtHZ2XREES 59,950 35,970 23,980
oLl Xtel K& 59,950,000 59,950
= 29,975
< 2,997
Al 26,978
307 21201 A 323,730 335,720 211,990
= 161,865
= 16,187
Al 145,678
11T AL SXAEE X 323,730 335,720 A 11,990
O dXtel X (I 2N A)
323,730,000 323,730
= 161,865
< 16,187
Al 145,678
224 29HIXA 765,000 1,044,000 A 279,000
307 21201 A 765,000 1,044,000 A 279,000
11T M3 SRAISEEX 765,000 1,044,000 A 279,000
oZzzE2d9dl XA 765,000,000& 765,000
Hel2d SXAE 22 39,600 42,000 A2,400
< 11,880
Al 27,720
307 glz2tol & 39,600 42,000 A 2,400
= 11,880
Al 27,720
10 AL SXNAIEEE2EHEX 39,600 42,000 A 2,400
oMoy SXNAE 2IXA(BMHLA)
39,600,000& 39,600
< 11,880
Al 27,720
LOFUAESAE T2 2¢ 120,000 120,000 0
307 21201 A 120,000 120,000 0
11 ALS S XAEE = 120,000 0 120,000




A el Zoel
HY: Lo=NEA
& LS JIgtEd (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FEEEEERTEET]
120,000,000 = 1JH A 120,000
IFELQ YAES 3,780 3,780 0
307 glz2+ol & 3,780 3,780 0
05 RIZIRI &t 3 3,780 3,780 0
OJEL LAES XA
52,5003 * 128 » 6L 3,780
MIot=Ql MBI AT 2 X 2,516,067 3,594,383 A 1,078,316
301 gt 4= 1,941,760 2,708,883 AT67,123
01 MI2EZE 06z 1,941,760 2,708,883 AT67,123
OMIt= XA 1,941,760,000& 1,941,760
307 glz2tol & 574,307 885,500 A 311,193
10 ALSISXAIEHE2GH EX 574,307 885,500 A 311,193
OMIMI=QEXAIE 2SS XA 574,307,000 574,307
LOAZAIE 2HIA 862,718 746,107 116,611
= 603,903
< 77,644
Al 181,171
307 21201 A 862,718 746,107 116,611
= 603,903
< 77,644
Al 181,171
10 ALSISXAIEEER2GHEX 862,718 746,107 116,611
O AZAd 2HIR 862,718,000& 862,718
= 603,903
< 77,644
Al 181,171
SEHL SSAES20AHY 320,522 319,170 1,352
= 160,261
< 32,051
Al 128,210
307 glz2tol & 320,522 319,170 1,352
= 160,261
< 32,051
Al 128,210
11T M SRAISE EX 320,522 319,170 1,352
OSHLC SSAHHSEDN AME2Y
320,522,000& 320,522
= 160,261
< 32,051
Al 128,210
9988 &M= Lt=0l At 1,303,495 944,314 359, 181
< 391,048
Al 912,447
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

307 21201 A

= M

1,303,495

391,048
912,447

944,314

359, 181

A S XA E =

©9988 A=Lt=0l At 1,303,495, 000&

= M

1,303,495
1,303,495

391,048
912,447

944,314

359, 181

Lol xtel K&

Al

414,020

207,010
207,010

414,020

307 glztol &

H

Al

414,020

207,010
207,010

414,020

414,020,000

= M

414,020
414,020

207,010
207,010

414,020

= M W

1,945,450
972,725
145,909
826,816

1,990,750

A 45,300

= M W

430,450
215,225

32,283
182,942

407,387

23,063

144,300,000

185, 150,000&

101,000,000

= W =z N W

= HmnH

430,450
144,300
72,150
10,822
61,328
185,150
92,575
13,886
78,689
101,000

50,500
7,575
42,925

407,387

23,063

307 glztol &

= Hn

1,515,000
757,500
113,626
643,874

1,583,363

A 68,363

1A SXAIE E =

ozdzgeted XA 1,515,000, 000&

= M W

1,515,000
1,515,000

757,500
113,626
643,874

1,583,363

68,363
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
colgditel e X 30,000 33,500 A 3,500
2 15,000
< 1,500
Al 13,500
307 glz2tol & 30,000 33,500 A 3,500
2 15,000
< 1,500
Al 13,500
11T MISXASEEX 30,000 33,500 A 3,500
oL LRelZ2AHS X 30,000,000 30,000
= 15,000
< 1,500
Al 13,500
QIR O ALY 500,000 302,500 197,500
307 21201 A 500,000 302,500 197,500
10 ALSISXAIEEE2GHEX 500,000 302,500 197,500
O QXU TAIY 2L
450,000,000 = 1002 450,000
OAHAE=ECI0IALE 50,000,000& * 1JH A 50,000
SO ALK& 97,200 75,600 21,600
301 LAz 7,200 3,600 3,600
09 SAEHIE &S 7,200 3,600 3,600
O QAL FOHA O HI
20,0003 = 30 = 63| * 204 7,200
307 21201 A 90,000 72,000 18,000
04 DIZHHALALSE E X 90,000 72,000 18,000
OUBOIE A 10,000,000& * 13l 10,000
okelod Jiga & 24 SHotS=EAM
50,000,000 * 13l 50,000
OL-lHIL23HA 17,000,000 = 13l 17,000
OAHOIE=Z U3 10,000,000& * 13l 10,000
okelder2t 2Zisl 3,000,000& * 13l 3,000
EIJAFA I A KT 29,283 22,578 6,705
= 20,499
< 2,635
Al 6,149
307 21201 A 29,283 22,578 6,705
= 20,499
< 2,635
Al 6,149
05 RIZt2IE = 29,283 22,578 6,705
OEIIIJLALMHI A RI & 29,283,000& 29,283
= 20,499
< 2,635




2N
X ZH -
L= B

el

ni
X
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b HH
e e re
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o e

A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 6,149
tHet=olsl AIXE MRE= 2SS 50,726 50,726 0
< 10,144
Al 40,582
307 glz2tol & 50,726 50,726 0
< 10,144
Al 40,582
11T MISXASEX 50,726 50,726 0
og=ele 2HRXA  25,363,000& * 2004 50,726
= 10,144
Al 40,582
MMOPEILI12 XIS AL XHR S A 86,148 86,148 0
= 43,074
< 12,922
Al 30,152
307 21201 A 86,148 86,148 0
= 43,074
< 12,922
Al 30,152
11T M3 SXAISEEX 86,148 0 86,148
OMIMNEII A2 XIS ASI AR A HALS
86, 148,000& 86,148
= 43,074
< 12,922
Al 30,152
LolItEe X3 480,200 460, 869 19,331
307 21201 A 480,200 460, 869 19,331
10 ALSISXAIEEE2GHEX 480,200 460, 869 19,331
okolis 2EXNA(S,H) 397,000
O=2gHI (144 A) 215,000, 000& 215,000
O=Aldl 3,500& = 2,080 * 253 182,000
okLolnltzs 43 XA
100,000& » 30002 = 123l 36,000
oLt 2EXNA(Lg)
20,000,000& * 204 A& 40,000
OLodEsluEg 29XA
1,800,000& * 400 A 7,200
EFNMREALEE =2 AE 19,000 0 19,000
401 AIEHI L 2CHYI 19,000 0 19,000
01 A& HI 19,000 0 19,000
OHFANALOSNRAY NN A 2
=2 19,000,000 19,000
DI/ Y HEFETXA 60,000 0 60,000
307 21201 A 60,000 0 60,000




SAM: ol EOHel Dt
Hu: Lo=XEA
S9l: COI=X| JBtEY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
10 ALSISXAIEEE2EHEX 60,000 0 60,000
CNEXNESINY HEFX X
60,000,000& * 1JH A 60,000
Z2Y =3 ZZ2 )8 22| oSEXJ 56,726 0 56,726
< 11,345
Al 45,381
307 glz2tol & 56,726 0 56,726
< 11,345
Al 45,381
11T AISI S XA E = 56,726 0 56,726
OFZY =3 ZTZ )W 2| ok
28,363,000& * 204 A& 56,726
< 11,345
Al 45,381
ANE2Y Ity 586,362 390,040 196,322
= 33,500
< 10,060
Al 542,802
d&EZ OIEEE JIsES 2,000 1,800 200
201 £B-2dH| 2,000 1,800 200
02 3323l 2,000 1,800 200
OXEZ HOESZE AMASRKHI(6IHA)
2,000,000 2,000
LREAE JIsEE 67,000 278,240 A 211,240
= 33,500
< 10,060
Al 23,440
402 QI2H X201 M 67,000 278,240 A 211,240
= 33,500
< 10,060
Al 23,440
01 B2t AL E X 67,000 278,240 A 211,240
OLRAANL JIs2Z 67,000, 000& 67,000
= 33,500
< 10,060
Al 23,440
AMLUAHEY JIsEZ 415,912 80,000 335,912
401 Al Bl 2B 375,912 0 375,912
01 A& HI 360,000 0 360,000
OHIAANUOWEY &= 360,000,000 360,000
02 Zeltl 15,012 0 15,012
OHEIAANLIHZY 22l
360,000,000& * 4.17% 15,012
03 Al =20 HI 900 0 900




e =Rl S el
Hu: Lo=XEA
Sl AE2Y JIBEY CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFIAANLINHZEE A5 20|
360,000,000& * 0.25% 900
402 212t X201 A 40,000 80,000 AN 40,000
01 CI2ZtAI2AMEE X 40,000 80,000 A 40,000
OAILINEYE JIsEd X& 40,000
OANZEEAMGEH JIsE22 I
20,000,000& * 104 20,000
OANLINHZEE JIsEd A&
10,000,000 * 204 A 20,000
NBL=R2 Jls2d 25,270 0 25,270
401 AIEHIL 20| 25,270 0 25,270
01 Al Bl 25,000 0 25,000
Osatg=S Al 25,000,000& 25,000
03 A& 20HHI 270 0 270
OJtde=EX2 JsEd A2
25,000,000& * 1.08% 270
HFEALASESIH JIsES 13,032 0 13,032
401 Al HIL 20| 8,072 0 8,072
01 A& HI 8,000 0 8,000
OFHES BE=Z2A 4,000,000& 4,000
O15 &I 3 A 4,000,000 4,000
03 A& 20 b 72 0 72
OFFANL=XN2 NE> 2UH|
8,000,000& * 0.90% 72
405 XtabF SHI 4,960 0 4,960
01 A&t =S F St 4,960 0 4,960
OHtS&EIIA & FHA X A 4,960
ot1elg o Xt 50,000& * 52H 2,600
[OXINE=2=IDN; 295,000& = 8JH 2,360
FFAYLASsIH JIsES 9,081 0 9,081
401 AIEHIL 201 9,081 0 9,081
01 A& HI 9,000 0 9,000
OJlsg=sa 29 S A 5,000,000& 5,000
OZOHABHYAIE &EX 4,000,000 4,000
03 A& 20 b 81 0 81
OFFAZLAZEIH JIsE22 AMERUYI
9,000,000& * 0.90% 81
HFEUHELo=sI2 Jis2d 47,508 0 47,508
401 Al HIL 200 47,508 0 47,508
01 Al& bl 47,000 0 47,000
ONel0l=0le HEZSAH 25,000,000& 25,000




M Lol &0H el It
HY: Lo=NEA
Sl AERY JIBEY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAHCEH A EXIZA 18,000,000& 18,000
OAHESA 2HSAl A X2 A 4,000,000 4,000
03 AlE 21| 508 0 508
OFFTUE=EX2 JsEL AE20UYI|
47 ,000,000€ = 1.08% 508
HEANLUSSE S X2 Kot =P HLEZA 6,559 0 6,559
401 AIEHIZL 2 0HY| 6,559 0 6,559
01 Al&H| 6,500 0 6,500
OXNotFx&E= P = At
6,500,000& = {14! 6,500
03 AlE 201 59 0 59
OXSIFEXNHEESUR B2 A 2014
6,500,000 * 0.90% 59
23t A 2,526,097 300,000 2,226,097
252,000
2,274,097
A AaE 29 300,000 300,000 0
307 212t0| & 300,000 300,000 0
05 QIZ2tREF 2 300,000 300,000 0
O A A 0I2t2[E 300,000, 000& 300,000
A2l JseEd 636,891 0 636,891
201 LBt H]| 4,000 0 4,000
01 AP 22| H| 4,000 0 4,000
0SB JIS2Y EHIT2IH(EST) 7
4,000,000& = 1JH 4,000
401 Al HI 2L 2 0HY| 632,891 0 632,891
01 Al&H| 630,722 0 630,722
osSdHZ2d H3ISoHE =0oHXI & & XI(3,37201
) 319,740,000& 319,740
O=2 22 NSSELAMTLEX AXZ2A &AL
Hedy 207,000,000 * 4.74% 9,812
o224 s LA AR Z2AHL=400M)
207,000,000& 207,000
OZHAE LED S L HZ2A 55,200,000& 55,200
OY2ZIHIOIEH 2 WM ELZ2A
2,500,000 = 2CH 5,000
ORAAE H=TZA} 13,970
OS&EA HE £ 13,970,000 13,970
O=2e23 ANE2 SN2 U] 20,000,000& 20,000
03 Al 201 Y| 2,169 0 2,169
o=2dZ2H JsEd A 20|
301,170,000& * 0.72% 2,169




A el Zoel
Mo LoI=XEX
cHelr HREs A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHIH SFSUIIY =3 A 472,053 0 472,053
401 Al HIZ 201 Y] 472,053 0 472,053
01 A& HI 460,440 0 460,440
OSHESH SFZUINE SHEISA AL
434,910,000& = 5.87% 25,530
OSHESH FZUIA SFSM
1,526,000& * 285m 434,910
02 Zeltl 8,481 0 8,481
OSHEIH FZUIIE S=IA 2l
434,910,000& = 1.95% 8,481
03 AIE S THHI 3,132 0 3,132
OSEZY KFETUIL S=I3A 20U
434,910,000& = 0.72% 3,132
SEZEX oK 421,000 0 421,000
401 Al HIZ 201 I 421,000 0 421,000
01 A& HI 421,000 0 421,000
SEBXN HEAESY 21,000, 000& 21,000
OS&£ XX 0ol&Hl 400,000,000 400,000
HatSd =8 FXAEH K& 300,000 0 300,000
401 AIEHIZL 201 300,000 0 300,000
01 A& Bl 300,000 0 300,000
Olsts 3= =X ALY 300,000, 000& 300,000
I HERE HESEZ & 396,153 0 396, 153
= 252,000
Al 144,153
401 Al HI K 201 I 396,153 0 396, 153
= 252,000
Al 144,153
01 A& HI 385,347 0 385,347
ONER=s d83td=2 £X 360,000,000& 360,000
= 252,000
Al 108,000
OM&Ers MEstEZ &AX &I
25,347,000& 25,347
02 Zeltl 7,955 0 7,955
OM&EZrs MEstEZ &I Zeldl
7,955,000 7,955
03 Al S HHI 2,851 0 2,851
OMZErs HE3EZ &AX R0
2,851,000& 2,851
ZOHU=EX 2 55,943,887 59,567,246 A 3,623,359
= 32,465,860
< 5,079,712




SAM: ol EOHel Dt
Hm: ZojoI=R PE
ool HOjQI=R JlBtES (cHel ® Q)
= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 18,398,315
ZOel=X Iy 36,657,142 34,215,821 2,441,321
= 21,588,680
< 3,382,901
Al 11,685,561
Zopel=Xa 24 964,600 929,200 35,400
307 glz2tol & 964,600 929,200 35,400
10 ALSISXAIEEE 22X 964,600 929,200 35,400
OFMeI=R2 2FXA 964,600,000 964,600
2 Foe 32 HI2 ==X 3,500 7,000 A3,500
301 L2 A F 3,500 7,000 A 3,500
01 A EE E 563 3,500 7,000 A 3,500
OHAZMHQ ABLBOIZ +&X 2
3,500,000& 3,500
SHEZOHQ FEIHZ ALY 53,200 57,000 A 3,800
= 26,600
< 18,620
Al 7,980
402 2I2H X201 M 53,200 57,000 A 3,800
= 26,600
< 18,620
Al 7,980
01 It =2 AL B X 53,200 57,000 A 3,800
O=sHEZO0HQ =EIH T A 53,200,000 53,200
= 26,600
< 18,620
Al 7,980
ANLEC AREHH 22 161,150 449,340 A 288,190
307 21201 A 161,150 449,340 A 288,190
OMBETANEHE2IHIES 161,150 449,340 A 288,190
QMM REHH 22 XA 161, 150, 000& 161,150
AMZEOMe M2 29 360,212 335,644 24,568
< 108,063
Al 252,149
307 2Iztol ™ 360,212 335,644 24,568
< 108,063
Al 252,149
0 A S XA EHER2IHED 360,212 335,644 24,568
OFXNENZ 2HXA 360,212,000 360,212
< 108,063
Al 252,149
ZelSSEMME2S 13,024 11,840 1,184
= 6,512
= 4,558
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
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1,954

= MW

13,024
6,512
4,558
1,954

11,840

1,184

01 AR 2&H =63
s
=

OHMUSSEAMME=

13,024,000&

= N H

13,024
13,024

6,512
4,558
1,954

11,840

1,184

S 1

=

= M

,800

,920
,880

8,384

1,416

307 glz2tol &

H

Al

,800

,920
,880

8,384

1,416

fol

et s XA
9,800,000&

= M

OO0 Ww O |0 Ww O

,800

9,800

3,920
5,880

8,384

1,416

zZ W

1,437,060
1,005,941
301,783
129,336

1,104,274

332,786

=z N H

1,437,060
1,005,941
301,783
129,336

1,104,274

332,786

1,437,060, 000&

= Hn

1,437,060
1,437,060

1,005,941
301,783
129,336

1,104,274

332,786

PNy
=}

OH QI X+ LA StHI X1 &

= Hn W

19,975
15,980
2,797
1,198

16,650

3,325

= N W

19,975
15,980
2,797
1,198

16,650

3,325

19,975,000

= N H

19,975
19,975

15,980
2,797
1,198

16,650

3,325
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=
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gojelezd X&

= Hn W

352,000
281,600
49,280
21,120

314,446

307 21201 &

= N H

352,000
281,600
49,280
21,120

314,446

37,554

352,000,000

= N W

352,000
352,000

281,600
49,280
21,120

314,446

37,554

264,240

528,480

N 264,240

264,240

528,480

N 264,240

264,240,000&

264,240
264,240

528,480

A 264,240

= W

29,877
23,901
4,183
1,793

23,200

6,677

= N H

29,877

23,901
4,183
1,793

23,200

6,677

29,877,000&

=z N H

29,877

29,877
23,901
4,183
1,793

23,200

6,677

0%
=
re
02
02
i
10
=)
=
11

= N

—

,029,059

496,529
148,959
383,571

968,807

60,252

= 0N

—

,029,059

496,529
148,959
383,571

968,807

60,252

=g
SE
OZMAAI L0l WSH K&

50,000% = 60 = 12&
993,059,000&

= N H

—

,029,059

36,000

993,059
496,529
148,959
347,571

968,807

60,252

328,560

317,120

11,440
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307 2izto| A 328,560 317,120 11,440
10 MM SAANEEHESIGHEX 328,560 317,120 11,440
OF2UAESAIE 2N 328,560,000 328,560
£SEANH 24 120,195 110,195 10,000
307 QI2t0| & 120,195 110,195 10,000
10 A SXNANEEHESIGHEX 120,195 110,195 10,000
Ox3stS9HdH 2H XN 120, 195,000 120,195
o= X L Xel X & 482,652 351,014 131,638
=2 241,326
o= 72,398
Al 168,928
307 2Iz2t0| & 482,652 351,014 131,638
= 241,326
= 72,398
Al 168,928
11T A EXAIEEX 482,652 351,014 131,638
OZHeIE2 XL Xl XS 482,652,000 482,652
= 241,326
& 72,398
Al 168,928
HOHRIHFAIE EAK AHEEEHZ XA 28,000 30,000 A 2,000
& 11,200
Al 16,800
301 LBt A= 28,000 30,000 A 2,000
& 11,200
Al 16,800
01 Al E & A 462 28,000 30,000 A 2,000
OFMAHF=AIAE EIAXN NEEHEZ XA
28,000,000 28,000
& 11,200
Al 16,800
O 2 XIS AF &I A 6,000 6,000 0
301 LBt A= 6,000 6,000 0
09 SHAIAHI B A2 6,000 6,000 0
OEXMO0IctEWM3 &IJtHHl 50,0008 * 40H 2,000
OFAMIMEC Xzl &I
50,000 * 409¥ 2,000
OF=ZXMEBOY A 2O HI
50,000 * 409¥ 2,000
A== ESKAAY A =X (RA) 908,010 790,266 117,744
403 XX SHHS K20 & 908,010 790,266 117,744
02 2J| 20l CHSHOH &8 AF 2 HI 908,010 790, 266 117,744
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHEML L FHAF2AU
8,550& * 60AIZt = 110Z = 12E 677,160
OsAHHXE & NHLLITOH M
8,550% * B0AI2+ » 75F « 63 230,850
ZOHATII= XN SALEEH 29 73,255 72,650 605
307 glz2+ol & 73,255 72,650 605
10 AL SXAIEEE 2 H EX 73,255 72,650 605
OZOMAIMIN=SXSAEEH 2SI
73,255,000 73,255
A w=H X& 82,300 82,300 0
< 32,920
Al 49,380
307 gl2tol & 82,300 82,300 0
< 32,920
Al 49,380
11T M SXALSE EX 82,300 82,300 0
OFOelw=HIXI& 82,300,000& 82,300
< 32,920
Al 49,380
ZOHUIIEXNJAEH 294 170,000 532,000 A 362,000
307 glz2tol & 170,000 532,000 A 362,000
10 ALSISXAIEHE2EH EX 170,000 532,000 A 362,000
OFFAZMHAISAALAE 2
170,000,000 = 1JH A 170,000
Foelns, XS XA 123,400 141,100 A 17,700
307 glz2tol & 123,400 141,100 A 17,700
11T M SRASE EX 123,400 141,100 A 17,700
sSAXN=ZHH 29 10,000,000& * 1JH A 10,000
e RLIFEHLE 29
800,000& = 12& » 1A 9,600
Osotel=wa 2% 20,000,0008 » 1H2A 20,000
OZEXHOot fF20s 24
4,800,000& = 10H= 4,800
OFHOlE HESW 2%  3,800,000& * 23 7,600
OFMIE A4 SsX3AANY 2
33,000,000& = 1JH A 33,000
OFMAXY &= EcEZ2)H 24
1,200,000& = 128 *» 10 A 14,400
OAZZHR EXuNsSAMY 299
4,000,000& * 102 4,000
OXMOts AHSISHE 29
20,000,000& = 1JH A 20,000
ZOHAUS R LB ALE 1,600 1,800 A 200
202 o4dl 1,600 1,800 A 200
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=
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01 SLHOYI

OZMA=SXAIE N=EZE OHI
20,000% = 2% » 202 = 23

1,600

1,600

1,800

ZO0i0ts MEx=H X

= MW

.530,261
,071,183
137,723
321,355

1,532,143

N 1,882

403 A X EHHS =0l A

= MW

,530,261
,071,183
137,723
321,355

1,532,143

A 1,882
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321,355

1,532,143
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e
e
on
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=z N H

w

3

,947,569
, 763,298
836,854
. 347,417

12,681,130

1,266,439

= HnH

3
9

3

, 947,569
, 763,298

836,854
. 347,417

12,681,130

1,266,439

13,947,569, 000

= Hn

13
13
9

3

, 947,569

. 947,569
, 763,298

836,854
, 347,417

12,681,130

1,266,439

= N H

10

7
1
2

, 718,285

,467,670
,010,314
,240,301

9,680,670

1,037,615

= N H

10

7
1
2

, 718,285

,467,670
,010,314
,240,301

9,680,670

1,037,615

10,718,285,000&

= N W

10
10

7
1
2

,718,285
,718,285

,467,670
,010,314
,240,301

9,680,670

1,037,615

=z MW

36,525
25,568
3,288
7,669

47,450

A~ 10,925

403 TtXI M SA=01A

36,525

47,450

A~ 10,925




A el Zoel
Hm: ZojoI=R PE
HOHQI=X Jlgtx= 4 ool E )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 25,568
< 3,288
Al 7,669
02 S| 2S0ICHSHHEH AH B 36,525 47,450 210,925
OXMOts HHELEHIRXH 36,525,000 36,525
= 25,568
< 3,288
Al 7,669
NMZEoHel B Ald KNHH 2 46,200 66,000 219,800
307 21201 A 46,200 66,000 219,800
10 ALl SXAIEEE2EH EX 46,200 66,000 A 19,800
OXMZHAEHAAIL JI=XNJAEH 2
46,200,000 46,200
ANAZOHCIDLE JtAXISSH XHED XT& A 8,400 8,400 0
< 4,200
Al 4,200
307 RI20| & 8,400 8.400 0
< 4,200
Al 4,200
11T AR SXAIEE = 8,400 8,400 0
OAZEOC JtAXISS HHI| K&
8,400,000 8,400
< 4,200
Al 4,200
ZOHQICHH 2 XA 19,966 19,966 0
402 RI2tXt20l ™ 19,966 19,966 0
01 A TtEAEER 19,966 19,966 0
Ot AAREI0t7 +¢ 19,966
OMSE A 99,0003  24CH 2,376
O0lsME 49,000 = 24CH 1,176
OMEEAR 179,000& * 240K 4,296
Od=gH0l2 120,000& * 50CH 6,000
OZola Rt 15,000& * 150CH 2,250
OZTFHMA 69,000 * 10CH 690
O It 169,000& * 70K 1,183
OAItHI 0l 2 210,000& = 1CH 210
Ozlefadols 290,000& « 2CH 580
O3l a o Xt 59,000& = 15CH 885
OSI0IEEE 160,000& = 2CH 320
HOHQIS R 2ItY X 43,092 43,092 0
< 12,927
Al 30,165
403 A X EHHSH20IA 43,092 43,092 0
< 12,927
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Al 30, 165
02 2 2SS0 CHeCH& AFS I 43,092 43,092 0
OFMHASHEBIZ N 43,092,008 43,092
< 12,927
Al 30, 165
ZOHQIAHUSE E=S ALY 10,000 10,000 0
= 4,000
Al 6,000
307 2Iz2t0| A 10,000 10,000 0
o= 4,000
Al 6,000
11 A EXAIEE X 10,000 10,000 0
OHMAHUSA ES ALY 10,000,000 10,000
= 4,000
Al 6,000
O L2LOISHFD| ANJHEH 29 55,200 53,890 1,310
= 22,080
Al 33,120
307 2I2+0 & 55,200 53,890 1,310
= 22,080
Al 33,120
10 MM SAANEEESIGHEX 55,200 53,890 1,310
OZMNAUAZLUHSHFINXNIMEH XE
55,200,000& 55,200
= 22,080
Al 33,120
HAEEOHQ JIAFE20] AP X2 60,000 100,000 A 40,000
307 2Iz2tol & 60,000 100,000 A 40,000
1 ABISXA R F 60,000 100,000 40,000
OHAEZC JIIMNER0] AIE X
60,000,000& 60,000
HOIAQOHRl HMDIFI|I 2 AlE2H 140,000 140,000 0
= 42,000
Al 98,000
307 2Iz2t0| A 140,000 140,000 0
o= 42,000
Al 98,000
10 M SXNAEEHESIGHEX 140,000 140,000 0
ONQIAOH WMNRI|I2 2AXH
140,000,000 140,000
& 42,000
Al 98,000
HOIESEX AIHAYE 221,616 221,616 0
= 66,485
Al 155,131
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= M
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= HnH

30,000
21,000
2,700
6,300

28,600

1,400

=z M H

30,000
21,000
2,700
6,300

28,600

1,400

01 M2 & X 23]

o&gHMe &

oy
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HHIE X

o

30,000,000&

= 0N

30,000
30,000

21,000
2,700
6,300

28,600

1,400

= N H

114,849
91,879
6,891
16,079

85,776

29,073

307 21201 &

= M W

114,849
91,879
6,891
16,079

85,776

29,073

ES

11 A2 S XA
QA2 E 0 Q!

[==]
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OFOFAF THHA ALY

114,849,000

= N W

114,849
114,849

91,879
6,891
16,079

85,776
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1
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= N W
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,358,817

948,288
287,370
123,159

1,083,814

275,003

= W

—

,358,817

948,288
287,370
123,159

1,083,814

275,003

1,358,817,000&

= W
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,358,817
,358,817

948,288
287,370
123,159

1,083,814

275,003

75,540

82,023
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L OIEOH QI Bt
HFOH=X 2
HOHQI=X Jlgtx= 4 )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 54,228
< 6,393
Al 14,919
307 21201 A 13,500 17,700 A 4,200
= 10,800
< 810
Al 1,890
11T MISRASEX 13,500 17,700 A 4,200
OZ2Z2=ddEHEXEE XA 2,700
= 2,160
< 162
Al 378
O33=AMHA X 10,800, 000& 10,800
= 8,640
< 648
Al 1,512
403 MtXISHH S0l & 62,040 64,323 N2,283
= 43,428
< 5,583
Al 13,029
02 S| 2SO0l CHEHCHE AH B 62,040 64,323 A2,283
OLETMARER2 & 47,040,000 47,040
= 32,928
< 4,233
Al 9,879
OLEZMLINE § 15,000, 000& 15,000
= 10,500
< 1,350
Al 3,150
SSEML R4 NA 20,000 15,000 5,000
< 6,000
Al 14,000
307 glz2+ol & 20,000 15,000 5,000
< 6,000
Al 14,000
11T MISXASEX 20,000 15,000 5,000
O=sTZMY 2= 20,000
< 6,000
Al 14,000
EFAN=3S9dH 29 34,118 32,986 1,132
307 21201 A 34,118 32,986 1,132
10 ALSI S XAIE B3 29 34,118 32,986 1,132
OFFAx=aESHH 34,118,000& 34,118
ZOHQUEX ALK 70,500 75,000 A 4,500
307 gl & 70,500 75,000 A 4,500
04 DIZHHALALSE E X 70,500 75,000 A 4,500
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OO < AL 18,000,000& = 13 18,000
O& X Z0lo < Al 3,000,000& = 13 3,000
©6.3 =019 Y SHA} 4,000,000& * 13| 4,000
OHMC WES3H0=H At
3,000,000 = 13 3,000
OZ%3tHAHS SHAF 2,000,000& = 13| 2,000
OO ZIIME A 2,500,000 = 13 2,500
OAIZZEOHCl 2|8l AF 2,000,000& = 13| 2,000
OA2ZE0HQ =X T3 2,000,000 = 13 2,000
OFMAAHSE &0t 12,000,000& = 13 12,000
OWES AL E0|J] A 2,000,000& = 13 2,000
OJi2e EHZAME 20,000,000& * 13 20,000
AESSEMQ SSEX 24412 X & 57,889 57,889 0]
= 17,367
Al 40,522
403 XX SRS R 20| & 57,889 57,889 0
=} 17,367
Al 40,522
02 2J| 2 S 0l CH StCH & AFR 57,889 57,889 0
OXZSSEMC ESEX 24A12t XIS
57,889,000 57,889
= 17,367
Al 40,522
SSHML S=Lee 75,692 0 75,692
= 47 177
Al 28,515
307 QI2t0| ™ 75,692 0 75,692
= 47 177
Al 28,515
11 Al EXAIEEX 75,692 0 75,692
O=ZSHS S=2LHe 75,692,000 75,692
= 47 177
Al 28,515
HofeIHAES A 348,860 191,400 157,460
307 2I2t0| & 348,860 191,400 157,460
11T A EXAIEEX 348,860 191,400 157,460
OXOMIHH &2z XS
75,200,000& * 1A 75,200
O%3stnas 249 6,000,000 = 1JH A 6,000
OMIMIEOHCITHEE DEAMY 89
64,000,000& * 102 64,000
OZMABEET A/SAIYE &4
30,000,000& * 1JH 2 30,000
OFMC2SHEH 29H 30,000,000& * 1A 30,000




LS QIEOH Bt
=X 7
Foper=sx oty

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OUEHHO XEOISMY 23
15,000,000& * 1JH A 15,000
OXZTEML SXx=da 29
3,000,000& * 1JH A 3,000
oOF ARETY =Y
10,000,000& * 1JH A 10,000
OB TAIZEAAX L2FALY  500,000& * 123] 6,000
OFMAU=XINE AASLs NA(S L 2
el ) 3,000& = 7,500 22,500
O&FMOXNSHIECTZSHSEIELZ
4,000& * 3,0400H 12,160
OHEFAIZOHINEXI ALY
75,000,000& = 14! 75,000
=S XA Z 0! XI & XHCH & 50,000 0 50,000
< 25,000
Al 25,000
307 21201 A 50,000 0 50,000
< 25,000
Al 25,000
04 QIZFHALAIH B & 50,000 0 50,000
O&IXAMEFOHC XIS 50,000,000 50,000
< 25,000
Al 25,000
OEEMe s & 30,000 0 30,000
< 12,000
Al 18,000
307 gl2tol & 30,000 0 30,000
< 12,000
Al 18,000
11T M SRAISE EX 30,000 0 30,000
O&ZHe BMNE XA 30,000, 000& 30,000
< 12,000
Al 18,000
e ZHe SMXAS(XHA) 10,000 10,000 0
301 L2 LS 10,000 10,000 0
01 M3IBZE 06z 10,000 10,000 0
OWEZTHR ESLRNES 10,000, 000& 10,000
SSHMNUESET FIXNS(EXR) 402,094 760,266 A 358,172
< 120,628
Al 281,466
403 MtXISHE X201 H 402,094 760,266 A 358,172
< 120,628
Al 281,466
02 S| 2SI CHSHIH & A B 402,094 760,266 A 358,172
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OXSZTZMHAESEL FIXNE
402,094,000 402,094
< 120,628
Al 281,466
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